BIOLOGY I

OPEN-ENDED ITEM: Genetics


Name: ______________________
In guinea pigs, black fur (B) is dominant to white fur (b)

B. (5 pt.) If two black guinea pigs mate and produce a liter of 9 black and 3 white offspring, what is the genotype of the parents (most likely)? Show a key, show the cross, use a punnet square to prove your cross and using the numbers of offspring and what you have learned so far about genetics, explain your answer.








A. (5 pt.) A black guinea pig mates with a white guinea pig and all black offspring are produced.  Is the black guinea pig heterozygous or homozygous dominant(most likely)?  Make a key, use two punnet squares to prove your answer and explain.








